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QUESTION PAPER SPECIFIC INSTRUCTIONS
Please read each of the following instructions carefully before attempting questions.

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted
choosing at Ieast ONE from cach Section.

The number of marks carried by a question/part 1s indicated against 1t.

Answers must be written 1n the medium authorized 1n the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet 1n the
space provided. No marks will be given for answers written in a medium other than the
authorized onc,

Word linmt 1n questions, wherever specified, should be adhered to.

Graphs/illustrations. wherever required, may be drawn/given in the spacc provided for
answering the question itself.

Attempts of questions shall be counted n sequential order. Unless struck off, attempt ot a
question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.
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Yug ‘A’ SECTION ‘A’
I ferferRaa Todes 999 &1 I T 150 ¥sel | ST
Answer the following questions 1n about 150 words each : 10x5=50

1.(a) O ¥ forar & mffaas qon aerieea gfeem & gomr & ta a=R Jelvid & |

Compare and contrast Marshallian and Walrasian approaches of the stability n
equilibrium. 10

1.(b) qETiTed oRe Wied &1 WART aXd g0 SEY T HEaR SRl Uk JwEa]

gTATISIER el <hi TRIfd ol <awh &dl © |

Using generalised Lorenz dominance show that lower inequality represents a higher
social welfare state. 10

1.(c) SATIR Fgh Ud @ad-4d A Uiadd & A {od gy &7 9erT Hifag |
Examine the relationship between business cycle and changes in autonomous
expenditure. 10

1.(d) 1 WERI-IIR ASfi-1ay & g9 &1 d9ed Tdhdl € 7 ISTek qah qHATEY |
Does government borrowing always crowd out the private investment ? Illustrate.

10
1.(¢)  Afc TR AT F H o F FeT ¢ Al IS Teh I4d @l T dredl Bl ST Tehe] Al

~

THYd @R ol TR 9T 91 1S sk &l gld dikafdd el BN | 9 3f¥aT 39
HATIU |

The slope of the IS schedule will become steeper 1f the government reduces the rate of
proportional tax but will not change at all 1if the government reduces
the level of a lump sum tax. True or false ? Explain. 10

2.(a) Al & T IATG GATUFR Alsd a1 fasigiad -Icd1e GaTIHER AISd &l THearl

1 T FHSU |

Explain the differences between Cournot model of duopoly with similar product and
differentiated product. 15

l‘"b.\\

2.(b)  HTHIT AW G5k H R FHER FT AT A € 7 19 cﬂjw«t FT AT AN 958
I FIHMYRR TR A TF HIAT-FA4Ror o1 Afed § 7 399 S| & Sa g
TSI |

What type of conjecture is involved in the existence of kinked demand curve ? Do you
think that kinked demand curve model 1s a price determination model 1n an oligopoly
market ? Justify your answer. 5+10

™

2.(c) ai1eTor ity for RerTel i sgaeat H &9, ASIGK! U oW, 3 o TR <l TALiierdn &
a1 trg yar {9 {99 d{ﬁ@rﬂﬁraﬁa‘@ﬁ% |

Fxamine how proﬂt wage and rent in Ricardian system move differently with the
movements in levei of income. 20

3.(a)  cuizu & fafea AT (F7ETAT TFEAFYE) T HE, Haq UG FATded a0y
gidass § 9 Iodd IR T |

Show that differences in underlying expectation lead to differences in Keynesian and
classical aggregate supply curve. I5

3(b)  RAd-gERel g & UAR 9Rd g At H T Jel-qid | ghg ZAT-at 6l
7 HH o <dl ¢ | TH ATET H HiFd-TR & Wid & URT S91E] 741§ 7

Apply the theory of liquidity preference to explain why an increase in money supply
lowers the interest rate. What does this explanation assume about the price level 7 15
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3.(¢) FT 1 {1 FT ST AW T FEAT TIATET TAT A2 H G TER Miga @l T T,
SITEAT hifS0 |
Explain how the weaknesses of Keynestan speculative demand for money have been
identified 1n Regressive [*"x;p:.-':-ctution% model. 21
4.(a) AR-ATAR ] Fled AT €0, YA 01 9 €7 <l g1 H , [FE F FTEA T
qid ash caA Fifsm | weamemo qul € UR ZH sk 1 Eed 1 N 7

Derive short-run aggregate supply curve tollowing Lucas, when expectations are not

realised, assuming that labour market clears. What will be its shape when expectations
are tulfilied ? 10-.+-:,

4.(b)  I=H-IF H3T- gfd fagrd &1 |59 H# o Hau | 38 Mg & v d v
a1l & FAT20 |
Describe high powered theory of money supply in briet. State the assumptions

made 1n 1ts construction, Q+7
4.(¢) AT fo=R | F1 qrsF SHR AR &R =9 ¥ gig vd 919 s'| qTfe5d - ATETIT -

SHATE FH B ° sderaerr d ad &1 feafy weam el € 7 T oRdfeuft @

THATZT

(i) TF % giegaen 7 'R @t @ F g

™ {™

(i) U& Gl egaed ¥ ©R G ) 1F 691 fwE O -aHad & |91y |

Do you think that increase in Government spending through borrowing from public
accompanied by fall in required reserve ratio generates recession in the economy ?
[Mustrate your answer :

(1) 1 a closed economy with fixed exchange rate.

(11) 1n an open economy with fixed exchange rate and without any capital mobility.

20
dis ‘B’ SECTION ‘B’
3. FATTigd W 9ya &1 I9 ST 150 9= | SIS0 |
Answer the tollowing questions i about 150 words each : 10x5=50
5.(a) artefer-stfaam Ta 9T v9==T ) TEFAAT & UROTH B | UAEA-UE F 24
FIERIT T ATEAT ST |
LExplain Rosenstein-Rodan’s view that ecconomic underdevelopment 1s the outcome of
a massive coordination fatlure. 10
5.(b) T Hagasa AHa faa@ e fha o Mia v 51 g9t €, =rer &Il |
Explain how gender sensitive human development index can be constructed. 10

S5.(c)  cuizv fo Awifed =ars o wamar wud &7 & foad siiider vehia U qarder © |

Show that the cconomic ntegration is the pre-requisite to establish covered interest
rate parity. 1 O

™ e R . = ™ A i %
5.(d) arEAtder Taaaa =0 778 29 3 SagR &1 9" & 9™ Bidl € 7 F= hilAd |
Under what condition Real Exchange Rate 1s synonymous to ‘terms of trade’ ?
Discuss. | ()

5(e) T AY T H HEAA ¢ & Tl 1 IRUME SHART ATGh TRINAAT &I GA199d e
© 7 Al S |

Do you agree whether sustaimable use of energy ensures economic sustainability 7
Fxplam. | O
3 FIXS-U-ECON
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6.(2)  Foicd i AT TImO Ioe U AR G URGeIAT & HedTERA e | T de
(afcereaT) sreqfaerfaa uil & fo@ 9 T 7 7
Evaluate Kuznets’ inverted U shaped curve hypothesis of income distribution. Does 1t
hold good for less developed countries as well ? 15

6.(b) 1 wHa-gsi1 e gfg o R @ 7 waw Ry f AWE-gET- I @ sgEn
ST el ¢ |

Does human capital cause economic growth ? Explain how human capital formation
can be enhanced. 15

6.(C) g difu fo e i aifed afg @ 1@ 3R & smaws 9ig R a9F € | 9l 7 eke-
AR gfg Alzet ol Tl WaR Soa Tohan © 7

Explain how Harrod’s warranted rate of growth is similar to Domar’s required rate of
erowth, How has Solow improved upon Harrod-Domar’s growth model ? 20

7.(a)  SIITH ISTEUN & IJHN I g AAUEI-ATAR H AGII-AH 6 g 1 ==
FU |
Discuss the theory of acquired advantage in international trade using suitable

examples. L5
7.(b)  FT AW & R € v & wAifge-fafmg @ f afosiean, feeit swgs & g A
TR aeqal &t wfastierar @ afkerfaa swdt € 7 st fEafa &1 e Hif |

Do you think that movement of the nominal exchange rate of Rupee represents a
corresponding movement of Indian goods vis-a-vis foreign goods ? Explamn your
position. 15

7.(c)  ATIR-@vel @t fafirm Aftat Fr € 7 9o SuR-gves seafawtaa siEEena & ted
T2 7 39a IR & I=a fag il

What are the different categories of trade blocks ? Are trade blocks beneficial to less
developed economies 7 Justify your answer. 20

8.(a)  dfc EXFR HA-IE U AH-IF U oK 951 ol © Al TIE AT Toh TFHTH -Hehel -
P -IAE UF Add-glg vl TR AoTled B |
If the government raises taxes on labour income and interest income, explain how
potential GDP and economic growth are affected. 15

8.(b) U fesit atfirawor (ToiEl) & gRT d ° FHOR HAd R HTESHe-HET ey

FI4 & 9 )R |1 U9E BN, ARl ST
(i) T& de AATIEAT %1‘{ Hdgy Gl £9
(i) UF @< FiFeRd uREddsid Al & A1y

Examine the effects of providing public service by a private agency at a lesser
price than earlier one on
(1) a closed economy with fixed wages.

(i1) a closed economy with flexible wages. 15
8.(c) U Fagra i FHMA GRI H AL A=A F ® ? Turzy T w, &, 99 1 fog e

‘H“\L

AT <Rl 37 cﬂﬂm @f 99 & T3, amETe-=u & gau-fergr & aemar & 9

B W & fagea &l fag TR g
What is Buchanan’s criticism of Arrow’s theorem 7 Show how A. K. Sen proved
Arrow’s theorem without the overall consistency of social choice to avoid the criticism

of Buchanan. 8+12
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